%ljll
i

H oY

1. ¥¥4
B4 AT 6 AEEEARATH) KR IS A= B K ONRT) | Z2 8170 SERERR A 4 26755
JEATST P SRR AR

2. SR
L) iR SRHET) BT oIt kit
348 HIH H A 64 48 1H

2) JE1THIR
£ o TH 3H14H

3) &FEtHM
AZEFIE,
BT 2 IEABWIE O A4 B SERE O N ONAT) 1 ZE A
A, W OEBRSURHERE =2 ) TR EAT O B TH D,

NNAGAOESHA] O—BRL LT, MR EORA S 512
SERERNAL, & LIHIFITISERE

4) FEHBNA
BIE TEERITER ) RO TRRAAE) oLkh &35,

E+sZi@E SN



=oyreay Ij\j =R =B
H 5 FIR =
WA | AT 6 BN KGR IESAE B K O 1| 22171 F L ieRR AR 41 2655 E BB
H H AT || BR B A
THH - T - fER] A7 ¥ & 4 % OB ORR
) BRI = 4,213, 365
T AGO BRI =X 4,213, 365
AN AGH BRBETRAT GAT) 1| 22 RIFI 5 2y 4,213,365 | JA7)1|Z2 IR S RE A
He) 1 =X
& IR SERE A
1 =X
1)1 Z2 R F SERe A
1 =X
E R = 439, 335
R = 439, 335
P i =y X 349,335 | k&
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 90, 000 %%Eﬁ%&ﬁzﬁk%
1 A
TEE = 4,652, 700
R e = 3, 337, 300
iS4 = 3, 337, 300
T B SE R = 7,990, 000
HAKGH D[ S5 A = 9, 434, 300
FHEE(E = 273, 200
AR = 273,200 | FHHUE(H
1 =
-1- E A28 SUNHT R



==
=]

m
2
gﬁ,

A | AN 6 RN KGRI A B K ONRT) 22 [ FH SERE R A 375 Eg BGES
H H A KD o E TR
THH - THE - FER A7 #H = 4 H A B ER
JEAEEA (BT TTKR) = 1 4, 855, 400
fr— 2 1 379,800 | FFATHA
1 X
B ERA 3 DR E 2y 1 398, 400 | Bk
1 X
BUHIER A EHE O VERL
1 K
B # 1 1,482,400 | HHhFHE
1 K
TERERLE D F LD HOEL - T = 1 2,594,800 | FRATFER &V F LD KRUHBE - Gl
1 X
JEAETRRA (K& 5) 2V 1 4, 305, 700
prp— = 1 379,800 | HraiiFHE
1 X
ST O E = ! 396,400 | BUUBAE:
1 X
BUHIERAEHE D VERL
1 =
T H = 1 1,432,800 | B4
1 =
FRAARER L U F LD RUELE - FHl = 1 2,094, 700 | FHAFER LV £ L ORKOEL - FH
1 =
BRI T =2 Y 7k = 1 816, 200
W ORI EETE =2 T = 1 816, 200
#
WA = 1 816,200 | BiHFHA
1 =
B ROL VLD
1 =

-2 - E+sZi@E SN



= SR 2
H 5 FIR =
WA | AT 6 BN KGR IESAE B K O 1| 22171 F L ieRR AR 41 2655 e BOES
H H S EERK
THH - T - fER] A7 % & 4 % OB AN R
Wi EER = 401, 000
s ER =Y 401, 000
R = 401, 000 | HEEAER
1 =X
EiS T 52V 338, 000
EiST] 52V 338, 000
frowe = 338,000 | ¥T&at
1 =
[EReS S~ = 340, 353
R = 340, 353
RSy X 165, 353 | R AS E@Er
1 M
%%Eﬁ%ﬁ:ﬁzﬁk% ﬂ 175, 000 %%Eﬁ%&ﬁzﬁk%
1 =
EEEM (ZFOM)smz <) = 11, 329, 853
Z DA = 5,917, 845
— B = 9, 282, 302
EHATRE = 26, 530, 000
SERSMA = 34, 520, 000
-3 - E A28 SUNHT R



